qe

(ii)

(iii)

(iv)

{(v)

- (%) =T Err
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Advanced Accounting - 2017

. /ety sifard §

@|ug- ‘31" (aEfes Wy)
el I H HE Fife;
Choose the correct answer:
(31) =aforTa w@rar
() AHE &7

Outstanding expenses account is a:

() Fifas @
(@) T & ¢ T8

{b) Real account
(¢) Nominal account {d) None of these
aqyz ¥ @I S ae 3eq g @ W

(31) 3N faaar H (@) FRE @ o
(W) @v-af @ @) 7 ¥ 3 TR

Outstanding expenses appearing in Trial Balance will be placed in:

(a) Personal account

(b) Trading Account
(d) None of these

I{aj Balance Sheet
(¢) Profit and Loss Account

4% g faam &
(30) 9T g% & fag (@) Thg a8 # fFw
(9) g 7 #= feew (&) T faaaor

Bank Reconciliation statement is a:
(a) Part of the Pass Book

(c) Part of the Ledger Account

(30 99 F a7 o CELE R R

(@) frdt o fomr (@) 79 & A T

Rectification entries are usually passed:

{a) At the end of the year (b) At the beginning of the year
{c) Only day (d) None of these

wftd 3l ymae @ &:

(b) Part of the Cash Book
(d) Memorandum Statement

() ardias @rar
(%) 390 & A 7
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(F) ATHEE G
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(vi)

(vii)

(viii)

(ix)

(x)

(xi)

Receipts and Payments Account is a:
(a) Personal Account (b) Real Account

(c) Nominal Account (d) None of these
geaaed @ e1gel arfiera fafy &

(37) a9t (@) amqef

(§) sHafed (@) T Y

Incomplete record mechanism of book-keeping is:’
(a) Scientific (b) Incomplete
(¢) Systematic (d) None of these
fafrim & aftafera fod s €
(31) 3T, HTT () doEH
[nvestment involves:

(a) Share, Debenture (b) Bonds  (c) All of these
fafrard ov genett it e i S @

(30) 9N eg W () 3AfdHd qed W
Calculation of Brokerage on Investment are:
(a) On market value (b) On faue value (¢) None of these

w & e 9t o« srfufasd & ewafa G s §

(@) 3 |t

(®) 3 & g T

(3) dg @ A (@) 4% @ §

(9) agel @ & () gER » Goff @ F
On dissolution of a firm, bank overdraft is transferred to;

{a) Cash Account {b) Bank Account

(c) Realisation Account (d) Partner's Capital Account

T @ ®:
(37) HRETE @il
(§) arafas @rar

Realisation Account is a:

(@) ATIE @

@) 3 ¥ B 9§

(b)Y Nominal Account

(c) Real Account (d} None of these

RAE weed sfufram, 1932 @ we uw ol @ sifrard fEea d
Trafard &

(31) 91T 40 (MHU4] (W)U 43 () 910 44

Which of the following sections of Indian partnership Act, 1932 is related
with compulsory dissolution of firm:

(a) Section 40 {b) Section 41 (c) Section 43 (d) Section 44

(a) Personal Account
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(xil)

(xiii)

(xiv)

(xv)
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ELIE G S I e
() 98 =W S SR @ T, fe w @
() a8 S0 @ FHIAT AT § R o A ga R

(4) a8 =a0t St A e T § e A R 9 gow @
(%) 19§+ T8

The meaning of accrued interest:

{a) The interest is not earned but received

{b) The interest is earned but not received

{(c) The interest is neither earned not received

(d) None of these

TRF F TG I2YT B g

(37) 29E YW 9 WE 90 Ggr
@ T % 9 A e T

The main object of amalgamation is:

(@) 29T gfereaf T S
OELEE G

{a) To increase mutual friendiness  (b) To finish mutual competition
(c) To release from the fear of loss  (d) None of these
Idiwm o F O wEert F IS 9| geai e fem A i
(31) T TR A () J5it srqure A
(W) 9RER % ' F oA ¥ () A9 ogua
Balance of Redisation Account is transferred to partners capital account:
(a) Equally (b) In capital nation
(c) In partners loan ratio {d) In profit-loss ratio
F-ARE Tl g T S g
(37) famiol orar - (F) SR TF A9-2 Gl
(§) IMME-=0F Tl (@) 37 o
Non trading institutions prepare:
(a) Manufacturing Account (b) Trading and Profit-Loss Account
(c) Income and Expenditure Account '
{(d) All of the above _
gog-'q' (T IT )
fraar u fagam =i 7
Why Balance Sheet is a Statement?
3ed =t @t uftamr S
Define outstanding expenses.
www.onlinebu.com
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3. % aumH e & T R §?
What are the purpose (objects) of Bank Reconciliation Statement?

AvEl gur i wafedl § oy wa wwen €2

: What do you mean by Rectifying entries?

4. U WEl YUiel W AR gEd faviedTd aemEe
State four characteristies of Single Entry System.

Fger I 4 & sia Wi A @ & e w9 # fay @ el i
Explain the Procedure of Calculating loss of Stock Under a Fire Policy.

5. =/ gfed 9O =S ded fAfE ®@ geems)
Explain cum-interest and Ex-interest investments.

arge fr=iifea o1 fowfiral fafiau; (i) oifdites wiist, (i) sTgwe aqgr ==
Write short notes on the following : (i) Primage, (ii) Voyage in-progress

6wl ¥ fawea ¥ auel @ W a0 S &
What is the object of a realisation account is dissolution of partnership.

a1 T F CHE ¥ T R e €7
What are the objectives of firms amalgamation,

gvs-w @ Ialw wv)

7. uAEteE @ wfEfed ¥ ey @ whE €2 fe faam daw w ¥ v
4 F4i MEvES 82
What do you mean by adjustment entries? Why are they necessary for
preparing financial statements?

argar 9 feu T faarm ¥ 31 fawy, 2007 F 99 @9 9 99 & (o S
a4l e @ o @ 36 fafg @ e faea TR
g # &g 80000 T 1,50,000
CIEEGE IR 500000  BH 65,000
i @fea 250,000 AR 75000
EECt 100000 319 T 25.000
ey faud 100000 O 75,000
= e 10,000 WM 280,000
FHig =Y 40000  Ysh 12,50,000
Fedl e 3000 #F WO 2,00,000
9 TH 44 285000 =S S 25,000
CIL| 500,000  faehd 8,50,000
fafram 3,50,000
AT

(iy  sfem wfaa 5,00,000
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(1)
(i)
(iv)

(M
(i)
(iii)
(iv)

FreraT
(i

(i)
(iif)
(iv)
W
(vi}
(vii)
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ed Aegd 25,000
o s 30,000
ol g %0 15,000

From the particulars given below, prepare the trading and profit and Loss
Account for the year ended 3 15t December, 2007 and a Balance Sheet as

on that date: )
30,000

Cash in hand Salaries 1.50,000
land and Building 500,000 - Depreciation 65,000
Opening Stock 2,50,000) Furniture 75,000
Wages 100,000 Bad Debts 25,000
Bills Reccivable 100,000 Debtors 75,000
Interest Paid 10,000 Creditors I 2.80,000
Office Expenses 40,000 Capital 12,50,000
Coolie Charges 3,000 Bank Loan 2,00,000
Plan and Machinery 2.85,000 Interest Received ' 25000
Purchases 5,00,000 Sales 8,530,000
Investment 3,50,000

Adjestments:

Closing Stock 5,00,000

Outstanding wages 25,000
Interest Receivable 30,000
Additional Bad Debts 15,000

ayfEal % YR ¥ oNT FW WEE §7 STIEA B GERT # ubEN W

gfirg Fof7 Fifaw

What do you understand by Rectification of Errors? Briefly describe the

procedure of rectifying errors,

FrefafEs faaol & qfim % o5 7o & @ g fEr a4y

UG o % ER S5 Y 10,000
do § A S foar T W Awe w9 F i orwn @ o e 500
¥ o W &% F o 1,200
% T WS 9T HH SieT T 200
o SRIER &% % g @ Sfey @ @ e 600
4% yar I T8 § o AR @ 20

00

&= frffira fm o &% ¥ gem & o sega 7@ gan 5
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(viiiy ¥ e @ Y 9@ F & aw frar T 1,000
() A M- SgE & T W U @ H o @ fea o 5.000

Prepare a Bank Reconciliation statement of Sanju Patel of Purnia form the

following particulars.
(i) Bank balance as per the Pass Book 10,000
(i Cheque Deposited into Bank but no entry was passed in

the Cash Book 500
(i)  Cheque received but not sent to Bank 1,200
{iv)  Credit side of bank column cash short 200
(v)  Insurance Premium paid directly by the bank under the

standing advice : - 600
(vi)  Bank Charges entered twice in the cash book 2(}
(vii)  Cheque issued but not presented to the bank for payment 5000
(viii) Cheque received entered twice in the Cash Book 1,000
(x)  Bill discounted dishonoured not recorded in the cash book 5,000
9. YW S YOI % AR T P T 8 @Al §1 1 Siad, 2007 9 3w

wiE afvE faegr frefafas e o

oSt AR e wferal sl sraee
EEE 5000 TEE @Y A 100
st 15000 &% ¥ I 900
&ER 5600
e ' 3000
T _ 1,400
AT 9,000
20,000 20,000

a4 % a1 ¥ Ia s feafy fFrafaf@d 9 ;T @ § 250 9w 9
% W9 1250 ¥9C T 2500 ¥9C TAER 6000 59, TR 1400 FIU V2
8600 FT& 3R SR 2000 TIT |

g 7 & A 11,000 T Frael o § 7500 §99 F T =AU F G0
W |@ieT & fau femn

af & @1y fees F A maves et T el fefafas gargrent
W HH & A% 31 e, 2007 # ol fEa

(31) W 3 TR W 10% 7Y AT

(@) ST HM 200 F94|

(W) TR H 5% Wiy 3
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Shubham has not kept full accounts on the basis of Double Entry System
on 1st January 2007 his trading Balance Sheet was as follows:

Capital and Liabilities Assets and Properties

Creditors 5,000 Cash in Hand 100
Capital 15,000 Cash at Bank 00
Debtors 50600

Stock 3000

Furniture 1,400

Plant 9,000.

20,000 20,000

His Financial Position at the end of the year was as follows cash in hand
Rupees 250, cash at Bank Rupees. 1250, Stock Rupees. 2500 Debtors
Rupees 6000, Furniture Rupees 1400, Plant Rupeed 8600 and Creditors
Rupees 2000.

He withdrew during the year Rupees 11,000 out of wluch he spent Ru-
pecs 7500 on purchasing a scooter for the business. Prepare necessary
statement to determine the net Profit for the year and a Balance Sheet at

at 31st December 2007 after making the following adjustments.

(a) Depreciate Furniture and Scooter! 10%

(b) Bad Debts Rupees 200

{c) 5% of Deblors are doubtful

T A & orarta Wi @ wl & A FE # faf #@ ol [

Explain the procedure of calculating loss of stock under a fire policy.

x fefiids & fmtifee faf femd:

(3) gan‘ 1,200-25000 T9 ¥ 3ifFd Ged & 5% GEHY EV 98 FIC &
?mmmlmaﬂ%m%w@ | 5aT S | rg;aréar?f

{a)amm: 1.200-40,000 T4 ¥ 3ifhd qoq & 6% GTHY q98 N Fed
97% # & W &9 fF =0t 9 a9 | wEd o 1 3 @ 3 B 8
(®) HET 15,2001-20,000 T92 F IifHT G54 H 5% WEY R0 1l e
999 F T I =
31 9 2001 B T B9 AR a9 F fag x fa. % fafEe qu s
Fam Hifew 7 vam fEe s frioe g #0 @) 9ew I §EE
w4 o fasa W 1/4 Sfwa B @Y T g a9 3 T 3§ W
e T8 WA R
X Ltd. made the following investments:
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(a) July 1, 2000 - purchased of 5% Govt. Loan for the face value of Rupees
25000, at issue price of Rupees 98, Interest in payable at half-ycarly rests
on Ist Jan, and st July.

{b) Oct, 1, 2000-purchased of 6% Govt. Loan Bonds for the face value of
Rupees 40,000 @ 97% Cum-int. Interest is payable on Ist Feb. and 1st
Aug. cash vear.

(c) Feb. 15, 2001 Sold 5% Govt. Loan of the nominal value of Rupees
20,000 (@ 99% Cum-int.

Write up the investment and interest account of x Ltd. for the year ending
J1st March, 2001 taking in to consideration that stamp duly and other
charges at 1/4% -- are payable in case of purchase an sales excluding
subscriptions to initial issue lgnore tax.

RR T e afufr it fafie oeed sfufEm &
STTAR AR AR T 27 o

What are preferential creditors according to presidency towns insolvency
act and provincial insolvency Act?

ABC % @ 31 fagwr, 2000 # fHEa Fmar o

AR , 7000 AFE 400
@9 0 1,800 IR 00
gel A 5,000 wiE 3000
B 4000  WEA . 4000

gt ¢ 1,400

17,800 17,800

ma?rtsﬁsmﬁtmmauﬁam%m 3:2: 1% 3qwa ¥
mﬁﬁmﬁwmﬁnwﬂmmm& wid ¥ 2400 FTF a9
AT ¥ 1450 T4 937 FEH I T AR F 250 TIY & ¢ T A
R fomm man
Iger & 14 350 T FU C A @E H fEEierm My w Gy aur swd
ferTa weafd & 1§99 Faer 50 1 & aga gul
IIH M FAH HU F ATHR agel @i, A%, @riar 4w
gstt @ T €
The following is the Balance that of A, B and C firm as on 3 st December
2000.

Creditors 7.000 Cash 400
Loan on Mortgae 1,800 Debtors 9,000
Capital A 5,000 Stock 3000
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B 4,000 Building 4,000
. Capital C 1400
17,800 17,800

it was decided to dissolve the firm on that date, They share profits and
losses in the ratio of 3 : 2 : | respectively. Building realised Rupees 3000.
Stock Rupees 2400 and debtors at a discount of Rupees 1450. Creditors
were paid off a discount of Rupees 250. Loan was paid at its value. The
realisation expenses, amounted to Rs. 350. C declared himself insolvent
and from his personal properly only 50 paise in the rupec was realised
your are required to prepare realisation A/c, Cash A/c and Partners capi-
tal A/c according to Garner vs. Murray.

QI T OFA ST 27 THE Iy W Ay fafau

What is amalgamation? Write its objects and merits.
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